50

= [
D_ -
é L
E OF
= C
A L
x |
o -50
v L
-100f
-150F
520014
g I
o [
0.5

+"‘+‘--—M-h-v+:f++¢+.- .......
'"I""I""|IIII|-|||;....
T80

90 100
Simulated interactions

< OX>(Um)

©
»

o
N

0.8F
0.6F

Al .

! 1|

.
.1.—.¢|__"h e + .---I....
0Tk L |11
TEE T T FrEE T
08} ~i i q .........
40 50 60 70 80 90 100

Simulated interactions

< 0 X > tor merged vertices (um)

Ratio

Simulated interactions

I Tbase

DOM CKF
DOM_CKF_TT retrainOldFiles113
DOQM~CKF_TT retrainOldFiles125 v2

<oy > (um) for PV

50

.
T

}

60

70 80 90 100
Simulated interactions

50

-100}---

—150f--

<0 2z>(um) for PV
o
"""""""""'4

n

Ratiq

L P B R
osEL T
IO a— 70 80 90

60

100
Simulated interactions

<0z>(um)

o ...
- .-.".§" ......
. Al
£ | S
0 90 100

o

|
=
o

|
N
o

+|*

60 70 80 90 100
Simulated interactions

iy

< 0y >for merged vertices (um)
| | |
w N [y o

|
IS

Ratio

0 80 90 100
Simulated interactions

o
IRERENREREE

Rati
N

i

i

l f

PO
(=]

70 80 90 100
Simulated interactions



	Contents
	Page 1


